# MANATEE COUNTY GOVERNMENT INTENT TO AWARD

IFB NO. / TITLE	23-TA004524ED for Satellite Lift Station R&R 2023 Group I	DATE POSTED	MC	DS
PROCUREMENT REPRESENTATIVE	Dave Janney, Procurement Agent III	PROJECTED AWARD DATE	May 9, 2023	
DEPARTMENT/DIVISION	Public Works	AUTHORIZED BY DATE	Jacob Erickson, Pu	rchasing Official

## **NOTICE OF INTENT TO AWARD**

The Manatee County Procurement Division provides notice of its intent to award a contract with DeJonge Excavating Contractors, Inc. for the provision of Satellite Lift Station R&R 2023 Group I.

## **ENABLING/REGULATING AUTHORITY**

Manatee County Procurement Ordinance, Sec 2-26.

## **BACKGROUND/EVALUATION**

The work consists of Satellite Lift Station R&R 2023 Group I, to include the upgrade or full replacement of the electrical control equipment, wet well cleaning, replacement of discharge piping, fittings, valves, swing check valves, guide rails, pipe bracings, base ells, and/or mounting plates. Wet well liner may need to be installed, repaired, or replaced.

The solicitation was advertised on January 26, 2023, on the Manatee County website and DemandStar. It was also provided to the Manatee County Chamber of Commerce, the Manasota Black Chamber of Commerce, Gulf Coast Builders Exchange and Gulf Coast Latin Chamber of Commerce for release to their members and in the Bradenton Herald and Tempo News newspapers. Responses were received from the following firms:

- 1. CEC Motor & Utility Services, LLC, Palmetto, FL
- 2. DeJonge Excavating Contractors, Inc., Venice, FL

## **EVALUATION SUMMARY:**

DeJonge Excavating Contractors, Inc. was the lowest responsible, responsive bidder(s). A bid tabulation of the results is attached to this Notice of Intent to Award.

## **RECOMMENDATION**

The Procurement Division and the Public Works Department recommend award to DeJonge Excavating Contractors, Inc.

ATTACHMENTS	Bid Tabulation	COST	\$1,286,094.32
(List in order of attached)			

Bidders mu	TAB SHEET  23-TA004524ED SATELLITE LIFT STATION R&R 2023 GROUP 1  GRAND TOTAL  ust provide prices for each available line item on each tab for their bid to be considered	CEC	DeJonge
	sidered responsive, it is the sole responsibility of the bidder to correctly calculate and enter all sub-total, contingency and total bid price fields.		
ITEM NO.	DESCRIPTION	TOTAL AMOUNT BID A 240 CALENDAR DAYS	TOTAL AMOUNT BID A 240 CALENDAR DAYS
<b>Total Const</b>	truction Cost for Winn Dixie Plaza West LS	\$241,478.60	\$229,600.58
<b>Total Const</b>	truction Cost for 18-AC LS	\$231,638.00	\$243,090.05
<b>Total Const</b>	truction Cost for Lakewood Ranch Repump LS	\$462,886.60	\$412,645.59
<b>Total Const</b>	truction Cost for Tidevue 2 LS	\$203,404.30	\$182,497.59
<b>Total Const</b>	truction Costs for Port Manatee	\$232,139.60	\$218,260.52
GRAND TO' MANATEE	TAL FOR WINN DIXIE, 18-AC, LAKEWOOD RANCH REPUMP, TIDEVUE, AND PORT	\$1,371,547.10	\$1,286,094.32

23-TA004524ED SATELLITE LIFT STATION R&R 2023 GROUP 1
Winn Dixie Plaza West - 3534 53rd Ave. W. Bradenton, FL
Bidders must provide prices for each available line item on each tab for their bid to be considered responsive.

DeJonge

CEC

ITEM NO.	sub-total, contingency and total bid price fields.  DESCRIPTION	UNIT	ESTIMATED QUANTITY	UNIT PRICE BID A 240 CALENDAR	EXTENDED AMOUNT BID A 240 CALENDAR	UNIT PRICE BID A 240 CALENDAR	EXTENDED AMOUNT BID A 240 CALENDAR
1	Wetwell Cleaning	SF	421	\$1.00	<b>DAYS</b> \$421.00	\$5.00	\$2,105.00
2	Wetwell Discharge Piping, HDPE DR-11, 4"	LF	57	\$20.00	\$1,140.00	\$80.15	\$4,568.55
3	Pump Base Ells, BPIU-14	EA	2	\$900.00	\$1,800.00	\$4,080.00	\$8,160.00
4	Pump Base Ell Mounting Plate	EA	2	\$900.00	\$1,800.00	\$3,095.00	\$6,190.00
5	S.S. Pipe Bracing, 6 ft dia.	EA	3	\$1,700.00	\$5,100.00	\$4,800.00	\$14,400.00
6	Intentionally Left Blank						
6.1	Intentionally Left Blank						
7	Replace Existing Top Slab						
7.1	Wet Well, thickness 10"	EA	1	\$3,000.00	\$3,000.00	\$9,500.00	\$9,500.00
8	PVC Vent, Sch 80, 4"	EA	1	\$400.00	\$400.00	\$565.00	\$565.00
9	Aluminum Hatch Cover	Ε.Δ.	4	#4 F00 00	#1 F00 00	#2.525.00	#2 F2F 00
9.1	Wet Well. 36" x 48", single door S.S.Pump Guide Rail System	EA LF	1 39	\$1,500.00 \$40.00	\$1,500.00 \$1,560.00	\$3,725.00 \$223.00	\$3,725.00 \$8,697.00
11	Intentionally Left Blank	LF	39	\$40.00	\$1,560.00	\$223.00	\$0,097.00
12	Repair Ex. Liner	SF	106	\$75.00	\$7,950.00	\$53.75	\$5,697.50
13	Grout Fill Ex. Drain, abandon	EA	1	\$250.00	\$250.00	\$2,250.00	\$2,250.00
14	Intentionally Left Blank	- An	•	<b>4230.00</b>	<b>\$250.00</b>	ψ <u>υ</u> , <u>υ</u> ου.υυ	\$2,230.00
15	Valve						
15.1	Gate Valve, FLG, 4"	EA	3	\$710.00	\$2,130.00	\$1,250.00	\$3,750.00
15.2	Swing Check Valve, FLG, 4"	EA	2	\$1,090.00	\$2,180.00	\$1,660.00	\$3,320.00
15.3	Gate Valve, MJ, 4"	EA	1	\$1,200.00	\$1,200.00	\$1,695.00	\$1,695.00
16	Pipe						
16.1	D.I., FLG, 4"	LF	5	\$150.00	\$750.00	\$200.00	\$1,000.00
16.2	PVC (DR-18), 4"	LF	15	\$100.00	\$1,500.00	\$118.10	\$1,771.50
16.3	Intentionally Left Blank						
17	Fittings						
17.01	Tee, DI, FLG, 4"	EA	2	\$535.00	\$1,070.00	\$2,106.00	\$4,212.00
17.02	90, DI, FLG, 4"	EA	1	\$415.00	\$415.00	\$1,145.00	\$1,145.00
17.03 17.04	90, DI, MJ, 4"  Intentionally Left Blank	EA	1	\$390.00	\$390.00	\$817.00	\$817.00
17.04	Intentionally Left Blank						
17.06	Sleeve, DI, MJ, 4"	EA	1	\$350.00	\$350.00	\$746.00	\$746.00
17.07	Intentionally Left Blank	En	•	ψ330.00	ψ330.00	ψ7 10.00	ψ7 10.00
17.08	Intentionally Left Blank						
17.09	Intentionally Left Blank						
17.10	Intentionally Left Blank						
17.11	Intentionally Left Blank						
17.12	Intentionally Left Blank						
17.13	Intentionally Left Blank	Ε.Δ.	1	#220.00	#220.00	<b>#422.00</b>	#422.00
18 19	Quick Coupler Adapter, aluminum, male, w/ Alum. Dust Cap, 4" S.S. Adjustable Valve Supports, FLG attachment	EA EA	1	\$220.00 \$400.00	\$220.00 \$800.00	\$423.00 \$835.00	\$423.00 \$1,670.00
20	Abandon Existing Structure	EA	2	\$3,000.00	\$3,000.00	\$735.00	\$1,670.00
21	Intentionally Left Blank	LA	1	\$3,000.00	\$5,000.00	\$733.00	\$733.00
22	Concrete Slab						
22.01	Valve Assembly	EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
22.02	Intentionally Left Blank			, ,	, , , , , , , , , , , , , , , , , , , ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , ,
23	Influent Line Plug, 10"	EA	1	\$2,000.00	\$2,000.00	\$250.00	\$250.00
24	By-Pass Pumping	LS	1	\$50,000.00	\$50,000.00	\$5,000.00	\$5,000.00
25	Intentionally Left Blank						
26	Intentionally Left Blank						
27	Intentionally Left Blank						
28	Remove & Replace Electric Meter Can	EA	1	\$15,000.00	\$15,000.00	\$2,431.00	\$2,431.00
29	Remove & Replace Fused Safety Switch (disconnect)	EA	1	\$5,400.00	\$5,400.00	\$2,486.00	\$2,486.00
30	Remove & Replace Control Panel (2020 Standard)	EA	1	\$35,000.00	\$35,000.00	\$27,425.00	\$27,425.00
30.1	Includes TCU Bubbler Unit (RPT-001) by DFS Intentionally Left Blank	EA	1	\$10,000.00	\$10,000.00	\$8,463.00	\$8,463.00
30.2	Remote Emergency Generator Receptacle	EA	1	\$6,500.00	\$6,500.00	\$3,931.00	\$3,931.00
30.3	Intentionally Left Blank	EA	1	υυ.υυς,σφ	Φ0,500.00	φ3,731.UU	\$3,931.00
31	TCU & Fiberglass Enclosure, DFS (use with 2020 standard)	EA	1	\$15,000.00	\$15,000.00	\$18,431.00	\$18,431.00
32	Junction Box, 304 SS (use with 2020 standard)	EA	1	\$440.00	\$440.00	\$7,431.00	\$7,431.00
33	Remove & Replace Sch 80 PVC Conduit		_	7110100	7 - 1 - 1 - 1	4.,102.00	41,102.00
33.1	Sch 40, 1"	LF	10	\$12.00	\$120.00	\$12.00	\$120.00
33.2	Sch 80, 2"	LF	50	\$20.00	\$1,000.00	\$15.00	\$750.00
34	Intentionally Left Blank						
35	Remove & Replace Electrical Mounting Structure	EA	1	\$4,200.00	\$4,200.00	\$3,725.00	\$3,725.00
35.1	Electrical Mounting Rack Extension for ATS Enclosure	EA	1	\$1,500.00	\$1,500.00	\$3,681.00	\$3,681.00
36	Intentionally Left Blank						
37	Elect. System Study & Elect. Study Analysis, (NFPA 70E), complet	LS	1	\$3,000.00	\$3,000.00	\$10,800.00	\$10,800.00
38	Ex. Antenna Concrete Base, remove & disposal	LS	1	\$1,500.00	\$1,500.00	\$1,250.00	\$1,250.00
39	Concrete Repair, 2" thick (if required)	SF	211	\$40.00	\$8,440.00	\$23.75	\$5,011.25

	TAD CHEET						
	TAB SHEET						
	23-TA004524ED SATELLITE LIFT STATION R&R						
Diddone	Winn Dixie Plaza West - 3534 53rd Ave. W. Br nust provide prices for each available line item on each tab fo		gangidayad				
		ir their blu to be	considered	C	CEC	DeJonge	
responsiv	e.						
*T- b							
	nsidered responsive, it is the sole responsibility of the bidder	r to correctly cal	culate and manually				
enter an s	sub-total, contingency and total bid price fields.			UNIT PRICE	EXTENDED AMOUNT	UNIT PRICE	EXTENDED AMOUNT
ITEM			ESTIMATED	BID A	BID A	BID A	BID A
NO.	DESCRIPTION	UNIT	QUANTITY	240 CALENDAR	240 CALENDAR	240 CALENDAR	240 CALENDAR
NO.			QUANTITI	DAYS	DAYS	DAYS	DAYS
40	Intentionally Left Blank			2.110	2.110	2.1.10	21110
41	Intentionally Left Blank						
42	Intentionally Left Blank						
43	Intentionally Left Blank						
44	Intentionally Left Blank						
45	Intentionally Left Blank						
46	Intentionally Left Blank						
47	Intentionally Left Blank						
48	Intentionally Left Blank						
48.1	Intentionally Left Blank						
48.2	Intentionally Left Blank						
48.3	Intentionally Left Blank						
49	Mobilization	LS	1	\$20,000.00	\$20,000.00	\$18,900.00	\$18,900.00
	Subtotal Construction Cost				\$219,526.00		\$208,727.80
50	Contract Contingency (USED ONLY WITH COUNTY APPROVAL)		10%		\$21,952.60		\$20,872.78
	Total Construction Cost for Winn Dixie Plaza West LS				\$241,478.60		\$229,600.58

23-TA004524ED SATELLITE LIFT STATION R&R 2023 GROUP 1
18-AC - 6510 14th St. W., Bradenton, FL
Bidders must provide prices for each available line item on each tab for their bid to be considered responsive.

considered responsive, it is the sole responsibility of the bidder to correctly calculate and manually

CEC

DeJonge

	nsidered responsive, it is the sole responsibility of the bidder	to correctly ca	lculate and manually				
enter all s	sub-total, contingency and total bid price fields.			UNIT PRICE	EXTENDED AMOUNT	UNIT PRICE	EXTENDED AMOUNT
ITEM NO.	DESCRIPTION	UNIT	ESTIMATED QUANTITY	BID A 240 CALENDAR	BID A 240 CALENDAR	BID A 240 CALENDAR	BID A 240 CALENDAR
1	Wetwell Cleaning	SF	245	\$5.00	\$1,225.00	\$5.00	DAYS \$1,225.00
2	Wetwell Discharge Piping, PVC Sch 80, 2"	LF	31	\$10.00	\$310.00	\$114.65	\$3,554.15
3	Pump Base Ells, BPIU-12	EA	2	\$900.00	\$1,800.00	\$2,200.00	\$4,400.00
4	Pump Base Ell Mounting Plate	EA	2	\$900.00	\$1,800.00	\$3,095.00	\$6,190.00
5	S.S. Pipe Bracing, 6 ft dia.	EA	2	\$800.00	\$1,600.00	\$3,696.00	\$7,392.00
6	Modify Existing Rim Elevation	EA	2	\$800.00	\$1,000.00	\$3,090.00	\$7,392.00
6.1	Intentionally Left Blank						
7	Replace Existing Top Slab						
7.1	Wet Well, thickness 10"	EA	1	\$1,500.00	\$1,500.00	\$4,359.00	\$4,359.00
8	PVC Vent, Sch 80, 4"	EA	1	\$400.00	\$400.00	\$565.00	\$565.00
9	Aluminum Hatch Cover	EA	1	\$400.00	\$400.00	\$303.00	\$303.00
9.1	Wet Well. 36" x 48", single door	EA	1	\$1,500.00	\$1,500.00	\$3,725.00	\$3,725.00
10	S.S.Pump Guide Rail System	LF	20	\$40.00	\$1,500.00	\$418.00	\$8,360.00
11	A 2	SF	245	\$54.00	\$13,230.00	\$53.75	\$13,168.75
	Liner, spray-on Remove Ex. Liner		245				
12	Intentionally Left Blank	SF	445	\$20.00	\$4,900.00	\$12.50	\$3,062.50
13	Remove & Replace Ex. PVC Drain P-trap (regrout) & Liner Repair	EA	1	\$500.00	\$500.00	\$3,000.00	\$3,000.00
15	Valve	EA	1	\$500.00	φου.υυ	<b>ა</b> ა,სსს.სს	<b>ა</b> ა,სსს.სს
15.01	Gate Valve, FLG, 2"	EA	3	\$500.00	\$1,500.00	\$3,524.00	\$10,572.00
15.01				\$900.00			
15.02	Swing Check Valve, FLG, 2"  Intentionally Left Blank	EA	2	\$900.00	\$1,800.00	\$4,090.00	\$8,180.00
16	Pipe L. C. Pl. J. C. Pl. J.						
16.01	Intentionally Left Blank						
16.02	Pipe, PVC, Sch 80, 2"	LF	11	\$20.00	\$220.00	\$22.75	\$250.25
16.03	Intentionally Left Blank						
17	Fittings						
17.01	Intentionally Left Blank						
17.02	90, PVC, 2"	EA	3	\$15.00	\$45.00	\$50.00	\$150.00
17.03	Intentionally Left Blank						
17.04	Intentionally Left Blank						
17.05	Intentionally Left Blank						
17.06	Intentionally Left Blank						
17.07	Intentionally Left Blank		_	4.2.2			
17.08	Van-Stone, PVC, FLG, 2"	EA	3	\$45.00	\$135.00	\$316.35	\$949.05
17.09	Cross, PVC, 2"	EA	1	\$100.00	\$100.00	\$75.00	\$75.00
17.10	Intentionally Left Blank			AMO OO	*100.00	AFF 00	444000
17.11	45, PVC	EA	2	\$50.00	\$100.00	\$55.00	\$110.00
17.12 17.13	Coupling, 2"  Intentionally Left Blank	EA	1	\$35.00	\$35.00	\$30.00	\$30.00
18	Quick Coupler Adapter, aluminum, male, w/ Alum. Dust Cap, 2"	E.A.	1	\$400.00	\$400.00	¢210.00	¢210.00
19	S.S. Adjustable Valve Supports, FLG attachment	EA EA	3	\$400.00 \$200.00	\$400.00 \$600.00	\$218.00	\$218.00
20	S.S. Adjustable valve Supports, FLG attachment  Intentionally Left Blank	EA	3	\$200.00	\$600.00	\$835.00	\$2,505.00
21	Intentionally Left Blank						
22	Intentionally Left Blank						
22.01	Intentionally Left Blank						
22.01	Intentionally Left Blank						
23	Influent Line Plug, 8"	EA	1	\$2,500.00	\$2,500.00	\$225.00	\$225.00
24	By-Pass Pumping	LS	1	\$15.000.00	\$15,000.00	\$5,000.00	\$5,000.00
25	Intentionally Left Blank	ш	1	Ψ13,000.00	Ψ13,000.00	ψ3,000.00	ψ3,000.00
26	Intentionally Left Blank						
27	Intentionally Left Blank						
28	Remove & Replace Electric Meter Can	EA	1	\$15,000.00	\$15,000.00	\$2,431.00	\$2,431.00
29	Remove & Replace Fused Safety Switch (disconnect)	EA EA	1	\$5,500.00	\$15,000.00	\$2,486.00	\$2,486.00
30			1	\$40.000.00		\$2,486.00	
	Remove & Replace Control Panel (2020 Standard)	EA			\$40,000.00		\$24,411.00
30.1	Includes TCU Bubbler Unit (RPT-001) by DFS	EA	1	\$10,000.00	\$10,000.00	\$8,463.00	\$8,463.00
30.2	Intentionally Left Blank	EA	4	#C 000 00	#C 000 00	#2.024.00	#2.024.00
30.3	Remote Emergency Generator Receptacle	EA	1	\$6,000.00	\$6,000.00	\$3,931.00	\$3,931.00
30.4	Intentionally Left Blank	E.A.	4	#4 F 000 0C	#1E 000 00	#40.424.0C	#10.424.00
31	TCU & Fiberglass Enclosure, DFS (use with 2020 standard)	EA	1	\$15,000.00	\$15,000.00	\$18,431.00	\$18,431.00
32	Junction Box, 304 SS (use with 2020 standard)	EA	1	\$440.00	\$440.00	\$7,431.00	\$7,431.00

	TAB SHEET						
	23-TA004524ED SATELLITE LIFT STATION R&R	2022 CDOUD 1					
	18-AC - 6510 14th St. W., Bradenton,						
Bidders 1	nust provide prices for each available line item on each tab for		considered		one.	ъ.	,
responsi	• •			(	CEC	Dej	onge
•							
*To be co	nsidered responsive, it is the sole responsibility of the bidder	to correctly cal	culate and manually				
enter all	sub-total, contingency and total bid price fields.		•				
				UNIT PRICE	EXTENDED AMOUNT	UNIT PRICE	EXTENDED AMOUNT
ITEM	DESCRIPTION	UNIT	ESTIMATED	BID A	BID A	BID A	BID A
NO.		0	QUANTITY	240 CALENDAR	240 CALENDAR	240 CALENDAR	240 CALENDAR
				DAYS	DAYS	DAYS	DAYS
33	Remove & Replace Sch 80 PVC Conduit						
33.1	Sch 40, 1"	LF	10	\$12.00	\$120.00	\$12.00	\$120.00
33.2	Sch 80, 2"	LF	45	\$20.00	\$900.00	\$15.00	\$675.00
34	Remove & Replace Electrical Service	LF	50	\$500.00	\$25,000.00	\$35.00	\$1,750.00
35	Remove & Replace Electrical Mounting Structure (One-sided)	EA	1	\$4,000.00	\$4,000.00	\$3,725.00	\$3,725.00
35.1	Intentionally Left Blank						
36	Intentionally Left Blank						
37	Elect. System Study & Elect. Study Analysis, (NFPA 70E), complet	LS	1	\$3,000.00	\$3,000.00	\$10,800.00	\$10,800.00
38	Ex. Antenna Concrete Base, remove & disposal	LS	1	\$1,500.00	\$1,500.00	\$1,250.00	\$1,250.00
39	Concrete Repair, 2" thick (if required)	SF	123	\$40.00	\$4,920.00	\$23.75	\$2,921.25
40	Intentionally Left Blank						
41	Core Bore & Repair Structure Wall	EA	7	\$300.00	\$2,100.00	\$750.00	\$5,250.00
42	Remove Ex. Power Pole	EA	1	\$5,000.00	\$5,000.00	\$12,500.00	\$12,500.00
43	New Concrete Floor, valve vault	CY	3	\$200.00	\$600.00	\$1,150.00	\$3,450.00
44	Intentionally Left Blank						
45	Intentionally Left Blank						
46 47	Intentionally Left Blank Remove Pine Needles	LS	1	¢1 500 00	¢1 F00 00	¢4.000.00	¢4.000.00
47	Intentionally Left Blank	LS	1	\$1,500.00	\$1,500.00	\$4,000.00	\$4,000.00
48.1	Intentionally Left Blank Intentionally Left Blank						
48.2	Intentionally Left Blank						
48.3	Intentionally Left Blank						
49	Mobilization	LS	1	\$18.000.00	\$18,000.00	\$19,700.00	\$19,700.00
77	Subtotal Construction Cost	ы	1	\$10,000.00	\$10,580.00	\$17,700.00	\$220,990.95
50	Contract Contingency (USED ONLY WITH COUNTY APPROVAL)		10%		\$21,058.00		\$22,099.10
30	Total Construction Cost for 18-AC LS		1070		\$231,638.00		\$243,090.05
					Ψ201,000.00		Ψ2 13,070.03

23-TA004524ED SATELLITE LIFT STATION R&R 2023 GROUP 1
Lakewood Ranch Repump - 8155 Lakewood Ranch Blvd., Bradenton, FL
Bidders must provide prices for each available line item on each tab for their bid to be considered responsive.

\*To be considered responsive, it is the sole responsibility of the bidder to correctly calculate and manually

DeJonge

CEC

enter all	sub-total, contingency and total bid price fields.						
				UNIT PRICE	EXTENDED AMOUNT	UNIT PRICE	EXTENDED AMOUNT
ITEM	DESCRIPTION	UNIT	ESTIMATED	BID A	BID A	BID A	BID A
NO.	Dibolii Hon	Oilli	QUANTITY	240 CALENDAR	240 CALENDAR	240 CALENDAR	240 CALENDAR
				DAYS	DAYS	DAYS	DAYS
1	Wetwell Cleaning	SF	904	\$4.00	\$3,616.00	\$5.00	\$4,520.00
2	Wetwell Discharge Piping, HDPE DR-11, 10"	LF	66	\$60.00	\$3,960.00	\$225.00	\$14,850.00
3	Pump Base Ells, BPIU-16	EA	2	\$1,500.00	\$3,000.00	\$4,080.00	\$8,160.00
4	Pump Base Ell Mounting Plate	EA	2	\$1,500.00	\$3,000.00	\$3,095.00	\$6,190.00
5	S.S. Pipe Bracing, 10 ft dia.	EA	3	\$1,800.00	\$5,400.00	\$3,910.00	\$11,730.00
6	Intentionally Left Blank						
6.01	Intentionally Left Blank						
7	Replace Existing Top Slab						
7.01	Wet Well, thickness 12"	EA	1	\$3,000.00	\$3,000.00	\$24,020.00	\$24,020.00
8	PVC Vent, Sch 80, 6"	EA	1	\$750.00	\$750.00	\$2,583.00	\$2,583.00
9	Aluminum Hatch Cover						
9.01	Wet Well. 48" x 72", single door	EA	1	\$2,500.00	\$2,500.00	\$5,150.00	\$5,150.00
10	S.S.Pump Guide Rail System	LF	48	\$40.00	\$1,920.00	\$185.60	\$8,908.80
11	Intentionally Left Blank			,			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
12	Repair Ex. Liner	SF	125	\$50.00	\$6,250.00	\$60.00	\$7,500.00
13	Grout Fill Ex. Drain, abandon	EA	1	\$500.00	\$500.00	\$2,250.00	\$2,250.00
14	Intentionally Left Blank	22.1	•	4500.00	4555.55	¥2,200.00	Ψ <b>2</b> ,200.00
15	Valve						
15.01	Gate Valve, FLG, 10"	EA	3	\$3,000.00	\$9,000.00	\$4,860.00	\$14,580.00
15.01	Swing Check Valve, FLG, 10"	EA	2	\$3,500.00	\$7,000.00	\$5,900.00	\$11,800.00
15.02	Gate Valve, MJ, 10"	EA	1	\$3,000.00	\$3,000.00	\$5,590.00	\$5,590.00
16	Pipe	EA	1	\$3,000.00	\$3,000.00	\$5,590.00	\$5,590.00
	D.I., FLG, 10"	IP	-	¢(0.00	¢200.00	\$978.75	£4.002.7F
16.01	PVC (DR-18), 8"	LF	5	\$60.00	\$300.00		\$4,893.75
16.02		LF	15	\$30.00	\$450.00	\$76.15	\$1,142.25
16.03	PVC (DR-18), 10"	LF	5	\$35.00	\$175.00	\$281.90	\$1,409.50
17	Fittings						
17.01	Tee, DI, FLG, 10"	EA	2	\$1,800.00	\$3,600.00	\$3,722.00	\$7,444.00
17.02	90, DI, FLG, 10"	EA	2	\$1,500.00	\$3,000.00	\$3,722.00	\$7,444.00
17.03	90, DI, MJ, 10"	EA	1	\$1,200.00	\$1,200.00	\$3,265.00	\$3,265.00
17.04	Reducer, DI, MJ, 8"x10"	EA	1	\$750.00	\$750.00	\$2,202.00	\$2,202.00
17.05	Foster Joint, DI, 10"	EA	1	\$800.00	\$800.00	\$1,860.00	\$1,860.00
17.06	Sleeve, DI, MJ, 8"	EA	1	\$800.00	\$800.00	\$2,450.00	\$2,450.00
17.07	Reducer, DI, FLG , 6"x10"	EA	2	\$2,000.00	\$4,000.00	\$2,955.00	\$5,910.00
17.08	Intentionally Left Blank						
17.09	Intentionally Left Blank						
17.10	Intentionally Left Blank						
17.11	Intentionally Left Blank						
17.12	Intentionally Left Blank						
17.13	45, DI, FLG, 10"	EA	2	\$800.00	\$1,600.00	\$3,112.00	\$6,224.00
18	Quick Coupler Adapter, aluminum, male, w/ Alum. Dust Cap, 6"	EA	1	\$750.00	\$750.00	\$1,372.00	\$1,372.00
19	S.S. Adjustable Valve Supports, FLG attachment	EA	4	\$450.00	\$1,800.00	\$835.00	\$3,340.00
20	Abandon Existing Structure	EA	1	\$1,500.00	\$1,500.00	\$735.00	\$735.00
21	Intentionally Left Blank						
22	Concrete Slab						
22.01	Valve Assembly	EA	1	\$750.00	\$750.00	\$1,500.00	\$1,500.00
22.02	Odor Control Unit, 60"x90"x6"	EA	1	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00
23	Influent Line Plug, 12"	EA	2	\$4,000.00	\$8,000.00	\$500.00	\$1,000.00
24	By-Pass Pumping w/ 24 HR Operator	LS	1	\$155,000.00	\$155,000.00	\$20,000.00	\$20,000.00
25	Water Service Connection and Line, 2"	LF	30	\$25.00	\$750.00	\$155.85	\$4,675.50
26	Install Meter, Backflow, & Hose Bibb Assembly, 2"	EA	1	\$1,000.00	\$1,000.00	\$9,175.00	\$9,175.00
27	Abandon Ex. Tapping Saddle; Install Brass Plug	EA	1	\$1,000.00	\$1,000.00	\$500.00	\$500.00
28	Remove & Replace Electric Meter Can	EA	1	\$5,000.00	\$5,000.00	\$3,431.00	\$3,431.00
29	Remove & Replace Fused Safety Switch (disconnect)	EA	1	\$5,500.00	\$5,500.00	\$3,486.00	\$3,486.00
30	Remove & Replace Control Panel (2020 Standard)	EA	1	\$40,000.00	\$40,000.00	\$12,931.00	\$12,931.00
30.1	Includes TCU Bubbler Unit (TBU-360) by DFS	EA	1	\$10,000.00	\$10,000.00	\$9,463.00	\$9,463.00
30.2	Intentionally Left Blank			,	,	,	,
30.3	Intentionally Left Blank						
30.4	Intentionally Left Blank						
31	TCU & Fiberglass Enclosure, DFS (use with 2020 standard)	EA	1	\$15,000.00	\$15,000.00	\$18,431.00	\$18,431.00
32	Junction Box, 304 SS (use with 2020 standard)	EA	1	\$440.00	\$440.00	\$7,431.00	\$7,431.00
JL	Danetion 201, 201 22 fast with 2020 Stallaging	ьA	1	ψττυ.υυ	ψττυ.υυ	Ψ/,ΤΟΙ.UU	Ψ1,Τ31.00

## TAB SHEET 23-TA004524ED SATELLITE LIFT STATION R&R 2023 GROUP 1 Lakewood Ranch Repump - 8155 Lakewood Ranch Blvd., Bradenton, FL Bidders must provide prices for each available line item on each tab for their bid to be considered CEC DeJonge responsive. \*To be considered responsive, it is the sole responsibility of the bidder to correctly calculate and manually enter all sub-total, contingency and total bid price fields. UNIT PRICE EXTENDED AMOUNT UNIT PRICE EXTENDED AMOUNT **ESTIMATED** BID A BID A DESCRIPTION UNIT NO. QUANTITY 240 CALENDAR 240 CALENDAR 240 CALENDAR 240 CALENDAR DAYS DAYS DAYS DAYS Remove & Replace PVC Conduit 33 33.01 Sch 40, 1" LF 10 \$12.00 \$120.00 \$12.00 \$120.00 Sch 80. 2" 33.02 LF 30 \$20.00 \$600.00 \$15.00 \$450.00 Intentionally Left Blank 34 Remove & Replace Electrical Mounting Structure Intentionally Left Blank \$9,000.00 \$9,000.00 \$3,725.00 \$3,725.00 35 EA 1 35. Flow Meter, incl. Electrical, complete (McCrometer UM06). 10" \$15,000.00 \$15,000.00 \$25,500.00 \$25,500.00 36 LS Elect. System Study & Elect. Study Analysis, (NFPA 70E), comple LS \$10,800.00 \$10,800.00 \$3,000.00 \$3,000.00 38 Ex. Antenna Concrete Base, remove & disposal LS \$1,500.00 \$1,500.00 \$1,250.00 \$1,250.00 452 57 \$10,735.00 39 Concrete Repair, 2" thick (if required) SF \$40.00 \$18,080.00 \$23.75 40 #57 Stone with weed barrier SY \$85.00 \$4.845.00 \$84.75 \$4,830.75 41 Intentionally Left Blank 42 Intentionally Left Blank 43 Intentionally Left Blank 44 Install New Lift Station Driveway, 6" Thick Concrete SY 28 \$6,300.00 \$142.85 \$3,999.80 45 Aeration Unit Piping Alterations LS \$1,500.00 \$1,500.00 \$2,250.00 \$2,250.00 Existing Concrete Pads, remove & disposal LS 46 \$5,000.00 \$5,000.00 \$3,000.00 \$3,000.00 47 Intentionally Left Blank

10%

\$500.00

\$200.00

\$100.00

\$37,000,00

\$500.00

\$200.00

\$100.00

\$37,000,00

\$420,806,00

\$42,080.60

\$750.00

\$600.00

\$475.00

\$33,600,00

\$750.00

\$600.00

\$475.00

\$33,600,00

\$375,132,35

\$37,513.24

EΑ

ΕA

EA

LS

Odor Control Stub-Out Piping

Subtotal Construction Cost

Contract Contingency (USED ONLY WITH COUNTY APPROVAL)

Total Construction Cost for Lakewood Ranch Repump LS

48 48.1 6" 48.2 2"

49

48.2

1" 48.

Mobilization

23-TA004524ED SATELLITE LIFT STATION R&R 2023 GROUP 1
Tidevue 2 - 4305 10th St. Ct. E., Ellenton, FL
Bidders must provide prices for each available line item on each tab for their bid to be considered responsive.

CEC

DeJonge

*To be co	nsidered responsive, it is the sole responsibility of the bidder	to correctly ca	culate and manually				
enter all s ITEM NO.	sub-total, contingency and total bid price fields.  DESCRIPTION	UNIT	ESTIMATED QUANTITY	UNIT PRICE BID A 240 CALENDAR DAYS	EXTENDED AMOUNT BID A 240 CALENDAR DAYS	UNIT PRICE BID A 240 CALENDAR DAYS	EXTENDED AMOUNT BID A 240 CALENDAR DAYS
1	Wetwell Cleaning	SF	164	\$2.00	\$328.00	\$5.00	\$820.00
2	Wetwell Discharge Piping, SCH. 80 PVC, 3"	LF	19	\$15.00	\$285.00	\$302.00	\$5,738.00
3	Pump Base Ells, BPIU-13	EA	2	\$500.00	\$1,000.00	\$4,080.00	\$8,160.00
4	Pump Base Ell Mounting Plate	EA	2	\$500.00	\$1,000.00	\$3,095.00	\$6,190.00
5	S.S. Pipe Bracing, 4 ft dia.	EA	2	\$1,500.00	\$3,000.00	\$3,890.00	\$7,780.00
6	Intentionally Left Blank						
6.1	Intentionally Left Blank						
7	Replace Existing Top Slab						
7.1	Wet Well, thickness 10"	EA	1	\$2,800.00	\$2,800.00	\$4,314.00	\$4,314.00
8	PVC Vent, Sch 80, 2"	EA	1	\$200.00	\$200.00	\$671.00	\$671.00
9	Aluminum Hatch Cover						
9.1	Wet Well. 30" x 42", single door	EA	1	\$2,000.00	\$2,000.00	\$3,725.00	\$3,725.00
10	S.S.Pump Guide Rail System	LF	22	\$40.00	\$880.00	\$326.20	\$7,176.40
11	Liner, spray-on	SF	164	\$50.00	\$8,200.00	\$60.00	\$9,840.00
12	Intentionally Left Blank						
13	Intentionally Left Blank						
14	Intentionally Left Blank						
15	Valve						
15.01	Gate Valve, THD (Brass w/ handwheel), 3"	EA	3	\$200.00	\$600.00	\$931.00	\$2,793.00
15.02	Swing Check Valve, THD, 3"	EA	2	\$250.00	\$500.00	\$1,680.00	\$3,360.00
15.03	Intentionally Left Blank						
16	Intentionally Left Blank						
16.01	Intentionally Left Blank						
16.02	Intentionally Left Blank						
16.03	Intentionally Left Blank						
17	Fittings						
17.01	Intentionally Left Blank						
17.02	Intentionally Left Blank						
17.03	90, PVC, 4"	EA	2	\$85.00	\$170.00	\$150.00	\$300.00
17.04	Intentionally Left Blank						
17.05	Intentionally Left Blank						
17.06	Intentionally Left Blank						
17.07	Intentionally Left Blank						
17.08	Intentionally Left Blank						
17.09	Cross, PVC, 3"	EA	1	\$90.00	\$90.00	\$210.00	\$210.00
17.10	Union, PVC, 3"	EA	1	\$55.00	\$55.00	\$115.00	\$115.00
17.11	45, PVC	EA	1	\$55.00	\$55.00	\$136.00	\$136.00
17.12	Intentionally Left Blank						
17.13	Intentionally Left Blank						
18	Quick Coupler Adapter, aluminum, male, w/ Alum. Dust Cap, 4"	EA	1	\$250.00	\$250.00	\$660.00	\$660.00
19	Intentionally Left Blank						
20	Intentionally Left Blank Intentionally Left Blank						
21	Intentionally Left Blank  Intentionally Left Blank						
22							
22.01	Intentionally Left Blank Intentionally Left Blank						
	Intentionally Left Blank Influent Line Plug, 8"	EA	1	\$2,000.00	\$2,000.00	\$225.00	\$225.00
23 24	By-Pass Pumping	LS	1	\$2,000.00	\$2,000.00	\$225.00 \$5,000.00	\$225.00
25	Water Service Connection and Line, match existing	LS LF	20	\$30,000.00 \$40.00	\$30,000.00	\$5,000.00 \$58.95	\$5,000.00 \$1,179.00
26	Install Meter, Backflow, & Hose Bibb Assembly, standard		20				
26	Install Meter, Backflow, & Hose Bibb Assembly, standard Intentionally Left Blank	EA	1	\$1,200.00	\$1,200.00	\$3,061.00	\$3,061.00
		T7 A	1	#1F 000 00	#1F 000 00	d2 424 00	£2.424.00
28	Remove & Replace Electric Meter Can	EA		\$15,000.00	\$15,000.00	\$2,431.00	\$2,431.00
29	Remove & Replace Fused Safety Switch (disconnect)	EA	1	\$4,500.00	\$4,500.00	\$2,486.00	\$2,486.00
30	Remove & Replace Control Panel (2015 Standard)	EA	1	\$30,000.00	\$30,000.00	\$27,431.00	\$27,431.00
30.1	Includes TCU Bubbler Unit (TBU-360) by DFS	EA	1	\$25,000.00	\$25,000.00	\$24,463.00	\$24,463.00
30.2	Phase Converter, 1 Phase to 3 Phase, inside Control Panel	EA	2	\$4,500.00	\$9,000.00	\$2,000.00	\$4,000.00
30.3	Intentionally Left Blank	E4	1	#4F 000 00	#4F 000 00	#4.2F0.00	#4.2F0.00
30.4	TCU, installed in control panel (use with 2015 Standard)	EA	1	\$15,000.00	\$15,000.00	\$1,250.00	\$1,250.00
31	Intentionally Left Blank						
32	Intentionally Left Blank						

					-		
	TAB SHEET						
	23-TA004524ED SATELLITE LIFT STATION R&R						
D: 11	Tidevue 2 - 4305 10th St. Ct. E., Ellento		., ,				
	nust provide prices for each available line item on each tab fo	r tneir bia to be	considered	(	CEC	Dej	onge
responsi	ve.						
	nsidered responsive, it is the sole responsibility of the bidder	to correctly cal	culate and manually				
enter all	sub-total, contingency and total bid price fields.			UNIT PRICE	EXTENDED AMOUNT	UNIT PRICE	EXTENDED AMOUNT
ITEM			ESTIMATED	BID A	BID A	BID A	BID A
NO.	DESCRIPTION	UNIT		240 CALENDAR	240 CALENDAR	240 CALENDAR	240 CALENDAR
NO.			QUANTITY	DAYS	DAYS	DAYS	DAYS
33	D			DAYS	DAYS	DAYS	DAYS
33.1	Remove & Replace Sch 80 PVC Conduit Sch 40, 1"	LF	10	\$12.00	\$120.00	\$12.00	\$120.00
33.2	Sch 40, 1 Sch 80, 2"	LF	30	\$12.00	\$600.00	\$12.00 \$15.00	\$450.00
		LF					
34	Remove & Replace Electrical Service		10	\$500.00	\$5,000.00	\$35.00	\$350.00
35	Remove & Replace Electrical Mounting Structure	EA	1	\$4,000.00	\$4,000.00	\$3,725.00	\$3,725.00
35.1	Intentionally Left Blank						
36	Intentionally Left Blank						
37	Elect. System Study & Elect. Study Analysis, (NFPA 70E), complet	LS	1	\$3,000.00	\$3,000.00	\$10,800.00	\$10,800.00
38	Intentionally Left Blank						
39	Concrete Repair, 2" thick (if required)	SF	82	\$40.00	\$3,280.00	\$23.75	\$1,947.50
40	Intentionally Left Blank						
41	Intentionally Left Blank						
42	Intentionally Left Blank						
43	Intentionally Left Blank						
44	Intentionally Left Blank						
45	Intentionally Left Blank						
46	Intentionally Left Blank						
47	Intentionally Left Blank						
48	Intentionally Left Blank						
48.1	Intentionally Left Blank						
48.2	Intentionally Left Blank						
48.3	Intentionally Left Blank	I.C	1	#4 F 000 0C	#4F 000 00	#4 F 000 0C	#4 F 000 0C
49	Mobilization Subtotal Construction Cost	LS	1	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
			100/		\$184,913.00		\$165,906.90
50	Contract Contingency (USED ONLY WITH COUNTY APPROVAL)  Total Construction Cost for Tidvue 2 LS		10%		\$18,491.30		\$16,590.69
	Total Construction Cost for Tidvue 2 LS				\$203,404.30		\$182,497.59

23-TA004524ED SATELLITE LIFT STATION R&R 2023 GROUP 1
Port Manatee Stockade - 14490 Harlee Rd., Palmetto, FL
Bidders must provide prices for each available line item on each tab for their bid to be considered responsive.

considered responsive, it is the sole responsibility of the bidder to correctly calculate and manually

CEC

DeJonge

	nsidered responsive, it is the sole responsibility of the bidder	to correctly ca	culate and manually				
enter all	sub-total, contingency and total bid price fields.			UNIT PRICE	EXTENDED AMOUNT	UNIT PRICE	EXTENDED AMOUNT
ITEM	DESCRIPTION	UNIT	ESTIMATED	BID A	BID A	BID A	BID A
NO.			QUANTITY	240 CALENDAR DAYS	240 CALENDAR DAYS	240 CALENDAR DAYS	240 CALENDAR DAYS
1	Wetwell Cleaning	SF	233	\$2.00	\$466.00	\$5.00	\$1,165.00
2	Wetwell Discharge Piping, HDPE DR-11, 4"	LF	37	\$20.00	\$740.00	\$151.20	\$5,594.40
3	Pump Base Ells, BPIU-14 Pump Base Ell Mounting Plate	EA	2	\$1,000.00	\$2,000.00 \$2.000.00	\$4,080.00	\$8,160.00
<u>4</u> 5	S.S. Pipe Bracing, 6 ft dia.	EA EA	2 2	\$1,000.00 \$1,500.00	\$3,000.00	\$3,095.00 \$3,890.00	\$6,190.00 \$7,780.00
6	Modify Existing Rim Elevation	LA	L	Ψ1,300.00	ψ3,000.00	ψ3,070.00	\$7,700.00
6.1	Wet Well	VF	0.50	\$1,500.00	\$750.00	\$5,500.00	\$2,750.00
7	Replace Existing Top Slab						
7.1	Wet Well, thickness 10"	EA	1	\$3,000.00	\$3,000.00	\$3,300.00	\$3,300.00
8	PVC Vent, Sch 80, 4"  Aluminum Hatch Cover	EA	1	\$400.00	\$400.00	\$960.00	\$960.00
9.1	Wet Well. 36" x 48", single door	EA	1	\$1,500.00	\$1,500.00	\$3,725.00	\$3,725.00
10	S.S.Pump Guide Rail System	LF	19	\$40.00	\$760.00	\$420.00	\$7,980.00
11	Liner, spray-on	SF	233	\$60.00	\$13,980.00	\$53.75	\$12,523.75
12	Intentionally Left Blank						
13	Grout Fill Ex. Drain, abandon	EA	1	\$500.00	\$500.00	\$2,250.00	\$2,250.00
14 15	Intentionally Left Blank  Valve						
15.01	Gate Valve, FLG, 4"	EA	3	\$710.00	\$2,130.00	\$1,250.00	\$3,750.00
15.02	Swing Check Valve, FLG, 4"	EA	2	\$1,090.00	\$2,180.00	\$1,946.00	\$3,892.00
15.03	Gate Valve, MJ, 6"	EA	1	\$1,800.00	\$1,800.00	\$2,300.00	\$2,300.00
16	Pipe						
16.01	D.I., FLG, 4"  Intentionally Left Blank	LF	5	\$45.00	\$225.00	\$300.65	\$1,503.25
16.02 16.03	Pipe, PVC (DR-18), 6"	LF	15	\$38.00	\$570.00	\$58.30	\$874.50
17	Fittings	LI	13	\$30.00	\$370.00	\$30.30	ψ074.30
17.01	Tee, DI, FLG, 4"	EA	2	\$535.00	\$1,070.00	\$1,240.00	\$2,480.00
17.02	90, DI, FLG, 4"	EA	1	\$415.00	\$415.00	\$984.00	\$984.00
17.03	90, DI, MJ, 4"	EA	3	\$390.00	\$1,170.00	\$767.00	\$2,301.00
17.04	Reducer, DI, MJ, 4"x6"	EA	1	\$750.00	\$750.00	\$961.00	\$961.00
17.05 17.06	Foster Joint, DI, 6" Sleeve, DI, MJ, 6"	EA	1	\$800.00 \$800.00	\$800.00 \$800.00	\$586.00	\$586.00
17.06	Intentionally Left Blank	EA	1	\$800.00	\$800.00	\$1,256.00	\$1,256.00
17.08	Intentionally Left Blank						
17.09	Intentionally Left Blank						
17.10	Intentionally Left Blank						
17.11 17.12	Intentionally Left Blank Intentionally Left Blank						
17.12	Intentionally Left Blank						
18	Quick Coupler Adapter, aluminum, male, w/ Alum. Dust Cap, 4"	EA	1	\$250.00	\$250.00	\$467.00	\$467.00
19	S.S. Adjustable Valve Supports, FLG attachment	EA	2	\$450.00	\$900.00	\$835.00	\$1,670.00
20	Abandon Existing Structure	EA	1	\$1,500.00	\$1,500.00	\$735.00	\$735.00
21	Complete Removal of Existing Structure Concrete Slab	EA	1	\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00
22.01	Valve Assembly	EA	1	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
22.02	Intentionally Left Blank			. ,	, ,	. ,	. ,
23	Influent Line Plug, 8"	EA	2	\$1,500.00	\$3,000.00	\$225.00	\$450.00
24	By-Pass Pumping	LS	1	\$40,000.00	\$40,000.00	\$5,500.00	\$5,500.00
25	Water Service Connection and Line, 2" Install Backflow & Hose Bibb Assembly, 2"	LF	40	\$22.00	\$880.00	\$23.20	\$928.00
26 27	Abandon Ex. Tapping Saddle; Install Brass Plug	EA EA	1	\$1,500.00 \$1,250.00	\$1,500.00 \$1,250.00	\$2,656.00 \$500.00	\$2,656.00 \$500.00
28	Remove & Replace Electric Meter Can	EA	1	\$15,000.00	\$15,000.00	\$2,431.00	\$2,431.00
29	Remove & Replace Fused Safety Switch (disconnect)	EA	1	\$5,400.00	\$5,400.00	\$2,486.00	\$2,486.00
30	Remove & Replace Control Panel (2020 Standard)	EA	1	\$30,000.00	\$30,000.00	\$21,931.00	\$21,931.00
30.1	Includes TCU Bubbler Unit (TBU-360) by DFS	EA	1	\$10,000.00	\$10,000.00	\$8,463.00	\$8,463.00
30.2	Intentionally Left Blank						
30.3	Intentionally Left Blank Intentionally Left Blank						
31	TCU & Fiberglass Enclosure, DFS (use with 2020 Standard)	EA	1	\$15,000.00	\$15,000.00	\$18,431.00	\$18,431.00
32	Junction Box, 304 SS (use with 2020 Standard)	EA	1	\$450.00	\$450.00	\$7,431.00	\$7,431.00
-	*						

TAB SHEET  23-TA004524ED SATELLITE LIFT STATION R&R 2023 GROUP 1 Port Manatee Stockade - 14490 Harlee Rd., Palmetto, FL  Bidders must provide prices for each available line item on each tab for their bid to be considered responsive.  *To be considered responsive, it is the sole responsibility of the bidder to correctly calculate and manually enter all sub-total, contingency and total bid price fields.  UNIT ESTIMATED BID A	BID A
Port Manatee Stockade - 14490 Harlee Rd., Palmetto, FL Bidders must provide prices for each available line item on each tab for their bid to be considered responsive.  *To be considered responsive, it is the sole responsibility of the bidder to correctly calculate and manually enter all sub-total, contingency and total bid price fields.    TIEM	EE EXTENDED AMOUNT BID A 240 CALENDAR DAYS \$120.00 \$450.00
Bidders must provide prices for each available line item on each tab for their bid to be considered responsive.  *To be considered responsive, it is the sole responsibility of the bidder to correctly calculate and manually enter all sub-total, contingency and total bid price fields.    ITEM	EE EXTENDED AMOUNT BID A 240 CALENDAR DAYS  \$120.00 \$450.00
To be considered responsive, it is the sole responsibility of the bidder to correctly calculate and manually enter all sub-total, contingency and total bid price fields.	EE EXTENDED AMOUNT BID A 240 CALENDAR DAYS  \$120.00 \$450.00
*To be considered responsive, it is the sole responsibility of the bidder to correctly calculate and manually enter all sub-total, contingency and total bid price fields.    UNIT PRICE BID A 240 CALENDAR 240 CALENDAR DAYS DAYS DAYS DAYS DAYS DAYS DAYS DAYS	DAR 240 CALENDAR DAYS  \$120.00 \$450.00
UNIT PRICE   EXTENDED AMOUNT   BID A   240 CALENDAR DAYS	DAR 240 CALENDAR DAYS  \$120.00 \$450.00
UNIT PRICE   EXTENDED AMOUNT   BID A   240 CALENDAR DAYS	DAR 240 CALENDAR DAYS  \$120.00 \$450.00
UNIT PRICE   BID A	DAR 240 CALENDAR DAYS  \$120.00 \$450.00
ITEM NO.   DESCRIPTION	DAR 240 CALENDAR DAYS  \$120.00 \$450.00
NO.   DESCRIPTION   UNIT   QUANTITY   240 CALENDAR DAYS	240 CALENDAR DAYS \$120.00 \$450.00
NO.   QUANTITY   240 CALENDAR DAYS	\$120.00 \$450.00
33   Remove & Replace Sch 80 PVC Conduit   LF   10   \$12.00   \$120.00   \$120.00   \$12.00   \$33.1   Sch 40, 1"   LF   30   \$20.00   \$600.00   \$15.00   \$34.00   \$34.00   \$34.00   \$35.00   \$600.00   \$35.1   Intentionally Left Blank   School Blank	\$120.00 \$450.00
33.1   Sch 40, 1"   LF   10   \$12.00   \$12.00   \$12.00   \$12.00   \$33.2   Sch 80, 2"   LF   30   \$20.00   \$600.00   \$15.00   \$35.00   \$34   Remove & Replace Electrical Service   LF   20   \$500.00   \$10,000.00   \$35.00	\$450.00
33.2   Sch 80, 2"   LF   30   \$20.00   \$600.00   \$15.00	\$450.00
34   Remove & Replace Electrical Service	
35   Remove & Replace Electrical Mounting Structure	\$700.00
35.1   Intentionally Left Blank	
36	\$3,725.00
37   Elect. System Study & Elect. Study Analysis, (NFPA 70E), complet   LS   1   \$3,000.00   \$3,000.00   \$10,800.     38	
38         Intentionally Left Blank           39         Concrete Repair, 2" thick (if required)         SF         117         \$40.00         \$4,680.00         \$23.75           40         Intentionally Left Blank	
39         Concrete Repair, 2" thick (if required)         SF         117         \$40.00         \$4,680.00         \$23.75           40         Intentionally Left Blank         \$40.00         <	0 \$10,800.00
40 Intentionally Left Blank	
	\$2,778.75
41 Intentionally Left Blank	
42 Intentionally Left Blank	
43 Intentionally Left Blank	
44 Intentionally Left Blank	
45 Intentionally Left Blank	
46 Intentionally Left Blank	
47 Intentionally Left Blank	
48 Intentionally Left Blank	
48.1 Intentionally Left Blank	
48.2 Intentionally Left Blank	
48.3 Intentionally Left Blank	
49 Mobilization LS 1 \$18,000.00 \$18,000.00 \$17,000.	0 \$17,000.00
Subtotal Construction Cost \$211,036.00	\$198,418.65
50 Contract Contingency (USED ONLY WITH COUNTY APPROVAL) 10% \$21,103.60	
Total Construction Cost for Port Manatee Stockade LS \$232,139.60	\$19,841.87